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®
. 16.SQL%ROWCOUNT

12

After updating 10 rows the value of SQLYROWCOUNT would be?
13

Pick ONE option
14 10
15 1
. null
17

Error raised
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(0]
13. format_error_backtrace function
10
Which is not true regarding the format_error_backtrace function?
i Pick ONE option
12 © It give the object name where the error occurred
13 It gives the error location only for the top level subprogram call
LY Itindicate the line number where the error occurred
. Clear Selection
16
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12. autonomous procedure

(0]
One autonomous procedure can call another autonomous procedure?
Pick ONE option
9
True
10
O ralse
"
Redo Logs
12
Clear Selection
13
14
15 13. format_error_backtrace function

ﬂ P Type here to search





image8.png
[ HackerRank X G FiservHiing Team - Google Sear X | +

< C @ hackerrank.com/test/b0okk8qnf3i/questions/14ipdngfize

12 mins 2 Karthik v

ALL
11. Debug session
(0]
What is required to drill down in a subprogram during a debug session?
Pick ONE option
8
‘ © The subprogram must be compiled in the debug mode
9
The PLSQL_OPTIMIZE_LEVEL should be set at a level of 3
10
Normal complilation would be enough
"
Clear Selection
12
13
14 12. autonomous procedure
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10. autonomous transaction

(0]
An autonomous transaction shares the locks and savepoint with the main transaction?
Pick ONE option
7
O True
8
9
Clear Selection
10
"
12 11. Debug session
13 What is required to drill down in a subprogram during a debug session?

. Pick ONE option
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® 14. Debug window

Which window wouold show you the what breakpoints the debugger has encountered i the debugging session so far

1 Pick ONE option

B Smart data tab

5 Data tab

W Log Window

Clear Selection
15

16

17
15. Retruning Into clause
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9. Autonomous transaction pragma

‘® What is not a valid place to use the autonomous transaction pragma?
Pick ONE option
6
Trigger
7
© Nested Anonymous Block
8
Function
9
Clear Selection
10

1

12 10. autonomous transaction





image12.png
[ HackerRank X G FiservHiing Team - Google Sear X | +

< C @ hackerrank.com/test/b0okk8qnf3i/questions/10sf9rho3gq

07 mins

ALL
8. Debug privilage
®
Which privilage is not required in order to debug using SQLDeveloper
Pick ONE option
5
DEBUG CONNECT SESSION
6
‘ © DEBUG ANY PROCEDURE
7

DBA

Clear Selection

 Saved:

" 9. Autonomous transaction pragma
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MysQL v | @ Autocomplete not supported © (]
1 /*
L . List Customer and Product Without Sale 2 Enter your query below.
3 Please append a semicolon ";" at the end of the query |
In one list return, all customers who do not have an invoice and all products that 4
® were not sold. Use the UNION operator in this query. Return 3 values:
7« - category - Is this line related to "customer” or "product"? Print "customer” or
"product” without quotes.
4 -id - customer.id (category="customer") or product.id (category="product)
- name - customer.customer_name (category="customer") or product.product_name
(category="product")
5
Table definitions and a data sample are given below.
..
5 > Sample Data Tables
8
9
10 Line: 4 Col: 3

Test Results Run Query | Submit Code
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MysQL v | @ Autocomplete not supported © (]
1/
L . Sales Data for All Customers and Products 2 Enter your query below.
3 Please append a semicolon ";" at the end of the query |
Write a query that will return sales detals of all customers and products. The query 4 A
® should return all customers, even customers without invoices and also all products,
N even those products that were not sold. Print "N/A" for a null customer or product
+ name, and 0 for a null quantity.
3 For each row return customer name, product name, and the quantity of the product
sold. Order the result ascending by customer id, product id and invoice item id.
4
Table definitions and a data sample are given below.
..
. > Sample Data Tables
7
8
9 Line: 4 Col: 3

Run Query  Submit Code

. Test Results
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5. Which is the right answer to the following?

(0]
Choose the correct statements below:
- In PL/SQL code,
2 Pick ONE OR MORE options
5 if the current block is not having the exception handler ,the enclosing block will be searched for one.
B if an error occurs in the DECLARE section of a block immediately the enclosing block is searched.
. if an error occurs in the exception section of a block immediately the enclosing block is searched.
o none of these
Clear Selection
7
8

-
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ALL
4. If a run time error occurs when executing a PL/SQL procedure, what happens?
(0]
If a run time error occurs when executing a PL/SQL procedure, what happens?
g
Pick ONE option
2
an exception is raised
3
© the values of the OUT parameters are copied to their corresponding actual parameters
4
the values of the IN OUT parameters are copied to their corresponding actual parameters
5
the values of the IN parameters are copied to their corresponding actual parameters
N Clear Selection
7

a
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MysQL v | @ Autocomplete not supported @ &
1 /*
AL 3. Employees and UIN 2 Enter your query here.
3 s/ |

A company maintains the data of its employees in two Al
® tables: EMPLOYEE and EMPLOYEE_UIN. Write a query to print the NAME and UIN of

employees. If there is no unique identification number present corresponding to

~  the employee, then print NULL instead as the UIN. The order of output does not

1 matter.

Input Format
2

EMPLOYEE
3 Name | Type Description
™ Integer | The D of the employee. This is a primary key.
2
NAME | String | The name of the employee having [1, 20] characters.
5 AGE | Integer | Theage of the employee.
ADDRESS | String | The address of the employee having [1, 25]
6 characters.
SALARY | Integer | The salary of the employee.
7
EMPLOYEE UIN Line: 4 Col:

8 | Name | Type Description Test Results Run Query | Submit Code
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MysQL v | @ Autocomplete not supported © ¢ 9

I
Enter your query here.

Please append a semicolon ";" at the end of the query

*/

select name,phone,count(+) from employee group by name, phone
having count(*)>1

2. Clumsy Administrator

ALL

oW e

A company maintains the records of all its employees. They pay their database

® administrator too little so the work has been quite clumsy. The administrator has
carelessly inserted the records of many employees into the employee records table
multiple times. An employee's record is considered duplicate only if all the columns.

1 (fields) of his/her record are duplicated.
. Write a query to find the names of employees whose records occur more than once

in the table.
ok ]
o » Sample Data Tables
5
6
7

Line: 5 Coli 50

8

Test Results Run Query | Submit Code
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MysQL v | @ Autocomplete not supported ® [CERCEEE
1 /*
1. Relative Pay 2 Enter your query here.
ALL
3+
A company maintains an EMPLOYEE table with information for each of their 4 select e-nane,d.nane from employee e, employee d
@  employees. Write a query to produce a list containing two columns. The first column 5 where e.salary > d.salary =
ployees. querytop g - 6 order by e.salary asc;

should include the name of an employee who earns less than some other employee.
The second column should contain the name of a higher earning employee. Al

1 combinations of lesser and greater earning employees should be included. Sort
ascending, first by the lower earning employee's /D, then by the higher earning
employee's SALARY.

2

» Sample Data Tables

, R

Line: 6 Col: 23

8

Test Results Run Query | Submit Code
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ALL
18. null condition
®
Given the statement "If |_var > 3"What will happen if |_var is null?
12 Pick ONE option
13 The condition will evaluate to false
14 It will result in an error
15 The condition will evaluate to true
16
17
18
19. Exception Handler
19

30PM
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ALL
®
17. dynamic sql
12
Which statement is false regarding dynamic sql?
13 Pick ONE option
14 Sq statement is not know until runtime
15 Object referenced cannot be verified at compile time
16 Itis faster to execute than static sql
17
18
19

oM
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ALL
(0]
12
19. Exception Handler
13
In the exception sections there is a when others handler first followed by no_data_found handler. Where will no_data_found exception be handled?
14 Pick ONE option
15 no_data_found handler
- © when others handler
Clear Selection
17
18

N -
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15. Retruning Into clause

®
What is the purpose of the RETURNING INTO clause in the execute immediate statement?
Pick ONE option
12
© Toreceive the value returned by the returning into clause of a DML statement
13
To receive the value returned by a function call
14
To receive the out type parameters of a procedure or function call
15
Clear Selection
16
17
18 16. SQL%ROWCOUNT
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